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Answer: A::B::C::D

o Watch Video Solution

57. 935 @YU et 63 93P 932 B (BPIREAI TATE 3, — 2, 6 3@, 93
ST IARA (SB R GARMB 1T -

A —27,18, 54

B.27, — 18, — 54

C.27, — 18, 54

D. —27,18, — 54


https://dl.doubtnut.com/l/_kFbKGJDM8W4t
https://dl.doubtnut.com/l/_BRc2OqBByG9U

Answer: C::D

° Watch Video Solution

58. @ fagow foAlt dJed  dgiiwg BRI @@
(1,5, — 1), (0,4, — 2) 93 (2, 3, 4) 20, fageltd NIRRT BRI 2&-
A (1,1,1)
B. (1,2, 3)
C.(3,4,5)

D.(—1,6, —7)

Answer: B::C::D

° Watch Video Solution

59. A(1,2,1) ™ Q@ B(1,4,6) a3 C(5,4,4) v 7fod MRATD

SIS T T(ER A AT (=, v, 2) 2, , y, 2-99 TIH 26-


https://dl.doubtnut.com/l/_BRc2OqBByG9U
https://dl.doubtnut.com/l/_hVyIzLJAdrf2
https://dl.doubtnut.com/l/_zCSBsnwc3CiT

A3

B.4

C.5

Answer: A::B::C

o Watch Video Solution

60. 5 IARYIT i @PIRASA (directions cosines) I — 5m + 3n = 0
QR T2 + 5m? — 3n? = 0 IS 7o P IAE@, old Td @PRASfer

(direction cosines) 2(q -

A123
e

Bl 2

'fff

c 2 3

‘ffm



https://dl.doubtnut.com/l/_zCSBsnwc3CiT
https://dl.doubtnut.com/l/_1llli1xlAMZC

Answer: A::B::C::D

° Watch Video Solution

61. (2, 3, 4) ¥ (ATF z-9GHI 97 K 95F | K-99 TIH 2[-

° Watch Video Solution

K
62. (DT AJAIT 2-9IGHJ A5 Tﬂ (PIH q0 9IR FIARIIT frPerde e

(direction ratios) 0, — 1, 1-99 T OP (e, K-99 T 2<-

° Watch Video Solution

63. P(2, — 3, 5) kv, y-9IGHd T wifeGHe f[qvd FAIE (0, — 3, 0) 2,

8 -93 T 3&-

° Watch Video Solution



https://dl.doubtnut.com/l/_1llli1xlAMZC
https://dl.doubtnut.com/l/_bsmxkSXACIah
https://dl.doubtnut.com/l/_Jd2IyTqq4ax5
https://dl.doubtnut.com/l/_KBxuxHY0suDd
https://dl.doubtnut.com/l/_kYvBCz5is3w4

64. 9B6 WINOIAP TF ©agfd (2,3,5) aR (5,9,7) [vgustHt

TIH OB TAIIANE, B BT WElT d 9B e, d-a9 FIF 21-

o Watch Video Solution

65. ¥\ @ o [T A( —2,2,3) a3 B(13, —3,13) | A fIusHt

SITAN L | A 8 B Y@ MRS P 79 2: 3 ©Idiio wigfics e P-

ad BIAIF A<-

33 2
Al —Z9
(5 59)

B.(4,0,7)

(32 12
‘\5’ 5’5

D. (20, 0, 35)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kYvBCz5is3w4
https://dl.doubtnut.com/l/_RLIxbeAnedOK

66. I IWN 76 v A(—2,2,3) 93 B(13, —3,13) | A fIwsimat
SIAN L | iy, A 932 B a5ty sioteld wifeei(dd Meol{io g
204

A.15, — 5,10

B.11, — 1,16

C.3,13,2

D.7,13, — 4

Answer: D

o Watch Video Solution

67. 9 SR G [ A( — 2, 2,3) 9 B(13, — 3, 13) | A RAvsit} Siqercaelt

L | 9% sifexfier {79, P 99761 56894 @ 3PA = PB | P-93 T899 -

A x? +y*+ 22 + 28z — 12y + 10z — 247 = 0

B.z2 + y? 4 2% — 28z + 12y + 10z — 247 = 0


https://dl.doubtnut.com/l/_7talCkKzdIbE
https://dl.doubtnut.com/l/_Q0B3eZIVO1W9

Ca?+y?+ 22 +28c — 12y — 102 + 247 =0

D.z? + 9% + 2% — 28z + 12y — 102 + 247 =0

Answer: A

° Watch Video Solution

68. A(0,0,0), B(5,0,0),C(3,0,4) a3 D(0, 4, 3) 515 v maT &R |
A, B, C a D ¥ 3@-

A. 93 NHO BIARG

B. 93 IIGHad (@IfIP fayfet

C. 9FR THo T YIHRE AT

D. ATd (BIHIB2 7T

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Q0B3eZIVO1W9
https://dl.doubtnut.com/l/_HDgbkSEpGdI3
https://dl.doubtnut.com/l/_PO53YhpDnapz

69. A(0,0,0),B(5,0,0),C(3,0,4) 932 D(0, 4, 3) 51fb I M3 &IZ |

AC 932 BD SRR 76 2@

A. STIOIY
B. &G
C. I

D. aTid (PIAIEE AT

Answer: B

o Watch Video Solution

70. A(0,0,0) , B(5, 0,0), C(3,0, 4) 932 D(0, 4, 3) 516 fv (a7 &g |

ABC faglod GHamd (I5f 93(P) 2 -

A5

B.5+/2

C.10


https://dl.doubtnut.com/l/_PO53YhpDnapz
https://dl.doubtnut.com/l/_BlaNYZn2yNwQ

D. ATd (PIHIB2 7T

Answer: C

o Watch Video Solution

71. gug afd FAE  A(0,0,0), B(2,0,0), C(1,4/3,0) 4k
1 2
D 17_7£ |
V3 V3
61 ABCD 9316 3GFa |
fqfo2|AB| = |BC| = |CD| = |DA|
A. Tqqfe-1 5118 | f9gfo-2 f5d a3 f[9qfo-2, f[qfo-1-a7 S1f5d B |
B. faqfo-1 5113 | faqfe-2 51fdd ade fqfe-2, f[9qfo-1-a9 75D SI9d 77 |
C. fagfo-1 515 a3 fAqfo-2 >1f5d AT |

D. firqfo-1 3175 A aae fiqfo-2 o |

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_BlaNYZn2yNwQ
https://dl.doubtnut.com/l/_pZFdIqsIzhjC

—

72. dng fowafas FAIE A(0,0,0), B(2,0,0), C(1,4/3,0) ak

1 22
D(l — >|ﬁqﬁ1aaﬁmmmzﬁx OIF% Q3R 2- WIGHA N 0 (@I

o 932 Eﬁym N o @I IR 984 S @ sin® o = 3sin® ) W, ©Q@

cos’f = E | ff6-2 9B ST id erpstoe I, m, n 932 afo

[CESRIEE] [ AP a, B, @A J6 el

l m n
cosa = ,cos B = , COS7Y =
V12 +m?2 + n? VI2 +m?2 + n? VI2+m?2 +n

A. Tqfe-1 515 | f9gfo-2 S1fde aR [9gfe-2, [Agfo-1-97 15D BIA |
B. faqfo-1 5113 | faqfe-2 51fdd ade fqfe-2, f[9qfo-1-a9 75D SI9d 77 |
C. fagfo-1 515 a3 fAqfo-2 >1f5d AT |

D. firqfo-1 3175 A age fiqfo-2 o |

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_pZFdIqsIzhjC
https://dl.doubtnut.com/l/_VOCv7pelL31I

